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= 3,135,891
o= 322,549
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301 et A= 4,479,844 3,953,491 526,353
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= 3,135,891
= 322,549
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= 331,735
o 42,652
Al 99,521
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= 280,751
= 36,096
Al 84,225
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2 280,751
& 36,096
Al 84,225
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chelr HOjQIAIA 2SS & (el @2)
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SA BB (3H) - NRAY - B Ol At o %E& HRE2
11 JIEtE A= 193,680 0 193,680
[0 HOHEXAE SAIA =&
193,680,000 * 14! 193,680
& 38,736
Al 154,944
SSEHHNHANJHESH 180,000 166,825 13,175
= 36,000
Al 144,000
307 2Iz2t0| A 180,000 166,825 13,175
= 36,000
Al 144,000
05 QIZ2tRE 2 180,000 166,825 13,175
O ESsHMNANEXNHE 29
180,000,000 * 14! 180,000
& 36,000
Al 144,000
SSHHA XN XN AMMEEHSE XS 10,000 8,500 1,500
201 gBt24d| 10,000 8,500 1,500
01 AR 22| H| 10,000 8,500 1,500
[0 ESSHMHUNHANRLAEH L=
10,000,000& = 14 10,000
QI I I HF=AERYE 283,595 248,305 35,290
o= 56,719
Al 226,876
307 212t0| & 283,595 248,305 35,290
o= 56,719
Al 226,876
10 M SXNANEEHESIHEX 283,595 248,305 35,290
] &Z0Hel HIAHF=AE 29
283,595,000& * 1A 283,595
= 56,719
Al 226,876
ZOHRAHFAIERHE 447 826 447,826 0
= 89,565
Al 358,261
307 QI2t0| & 447 826 447,826 0
& 89,565
Al 358,261
10 A EXNAEEHE2IGH EX 447,826 447,826 0
O ZOHHF=AE 2E (XA
223,913,000 = 20 A& 447,826
o= 89,565
Al 358,261
O HF=AEOEAN QHWE 3,000 3,000 0
& 900
Al 2,100
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11T A EXAIEEX 3,000 3,000 0
[0 HOMHAAHNF=AE0EX AHADNS
500,0008 * 6IH A 3,000
&< 900
Al 2,100
HOQIEATHEAILE 2H 313,313 293,076 20,237
= 48,250
Al 265,063
307 2Iz2t0| & 313,313 293,076 20,237
= 48,250
Al 265,063
10 M SXAANEEHESIGHEX 313,313 293,076 20,237
O HOe 2 THEAALE 2H
313,313,000& = 14 313,313
& 48,250
Al 265,063
ool =2X2a2dg XNE 25,000 200,000 A 175,000
402 SI2vXHE0| ™ 25,000 0 25,000
03 DI 2t EF A HI 25,000 0 25,000
] A&EIHAH 25,000,000 * 14! 25,000
O HZT=AIE EIAX ANEMEHRZ XS 10,000 0 10,000
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Al 7,000
301 LBt A= 10,000 0 10,000
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Al 7,000
01 Al B & A 462 10,000 0 10,000
O BOHQIHEAIL SlAK UVRHMSHHD N2
10,000,000& = 1H 10,000
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Al 7,000
ZHOH QN SIS TH & X~ 195,174 205,225 A 10,051
ZHOH O G| 34 AFS TH & 174,774 164,609 10, 165
201 et 43,854 43,289 565
01 AP 2t 2| H| 34,315 33,765 550
[0 Lbt==d| 21,375
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0O &g =X g8
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O Z0He HoJAld #Z &ol
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O ZoHe AL &0
80,000& = 58 = 2 « 33| 2,400
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09 HALAHIEA S 3,180 3,180
0O 33 ZOHQ! HE A AL AHEH
60,000& = 409H 2,400
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6,700,000& = 14 6,700
O XNEFMY Z208 24
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O Hgegoe Z27d8 24
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3,000,000& = 14 3,000
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405 TtabF S| 2,000 2,000 0
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ZOHQIS & DI A 15,000 15,000 0
307 21201 A 15,000 15,000 0
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307 21201 A 130,000 130,000 0
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130,000,000& * 1JH 2 130,000
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Al 104,000
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Al 83,200
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Al 83,200
11T ALSI S XAIEE = 104,000 104,000 0
O e MO=sXSAHHEHS2 S
104,000,000& * 1JH £ 104,000
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Al 83,200
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Al 98,700
307 2I2+0 & 141,000 85,000 56,000
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Al 98,700
11T M3 SRASEEX 141,000 85,000 56,000
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Al 98,700
AMEOHQ HOAAIL A4EXHA 122,000 100,000 22,000
< 26,000
Al 96,000




2N
X ZH -
L= B

el

AVEl = X Bt
Zoj=xE
=SS T

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
307 2Iz2to| & 122,000 100,000 22,000
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122,000,000& » 1JH A 122,000
< 26,000
Al 96,000
WS SgunssH 29 43,200 43,200 0
307 212t0| & 43,200 43,200 0
11 A EXAIEEX 43,200 43,200 0
[ DSAN SERE+H 2PN
3,600,000& = 1CH ~ 12& 43,200
KAZONHA KK R ME 2 65,000 50,000 15,000
< 13,000
Al 52,000
307 212t0| ™ 65,000 50,000 15,000
=} 13,000
Al 52,000
11 A EXAIEE X 65,000 50,000 15,000
O ANMEHS HEAXNHANRLAEH 2H
65,000,000& * 1 65,000
= 13,000
Al 52,000
CIEHB QI AHALLSXILMEHSIE XS 45,000 35,000 10,000
= 9,000
Al 36,000
307 QI2t0| ™ 45,000 35,000 10,000
= 9,000
Al 36,000
11 Al EXAIEEX 45,000 35,000 10,000
O HYHTHAAANE U OSKBHE 2
X< 45,000,000& * 100 A 45,000
o 9,000
Al 36,000
O EXNHEESHAM DX 4,345 4,345 0
& 869
Al 3,476
202 044l 4,345 4,345 0
& 869
Al 3,476
04 =2 H st Hl 4,345 4,345 0]
O ZoHI=XNHSEH DA
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Al 3,476
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11T AS S RAEE = 50,000 28,000 22,000
O el HAdSSRBAMH K&
50,000,000& = 14 50,000
ZOHQIEHOIAIL AE M= A 22,209 0 22,209
< 6,663
Al 15,546
307 21201 A 22,209 0 22,209
< 6,663
Al 15,546
05 BIZHRI & 3 22,209 0 22,209
[0 ZOHQIEOIAIE AEH E=Z A
22,209,000& * 14 22,209
< 6,663
Al 15,546
MII=XAE M= 73,800 66,420 7,380
MISXAIE M= 73,800 66,420 7,380
301 L2 A F 73,800 66,420 7,380
0B A =RQABAZ 73,800 66,420 7,380
O M=EXAME MeER2E 73,800
O =4l 6,000& * 5098 » 246 73,800
O =X AIEX A 2,049,996 2,261,963 A211,967
= 1,420,619
< 188,813
Al 440,564
ZOUAA=AE2E X 1,997,605 1,928,893 68,712
= 1,398,323
= 179,785
Al 419,497
307 glz2tol & 1,997,605 1,928,893 68,712
= 1,398,323
< 179,785
Al 419,497
10 ALSISXAIEEE 22X 1,997,605 1,928,893 68,712
[ ZOHAAHFAIE 2ERE
1,997,605,000& * 14l 1,997,605
= 1,398,323
< 179,785
Al 419,497
ZOHAAHNF=AIE MBI AKX A 7,800 7,570 230
< 2,340
Al 5,460
307 i+l & 7,800 7,570 230
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ZAHLFXE 57,600 57,600 0
< 5,760
Al 51,840
301 et A Z 57,600 57,600 0
< 5,760
Al 51,840
01 MI28E+06l= 57,600 57,600 0
O JE?Ie X 57,600,000 * 14l 57,600




2N
X ZH -
L= B

el

Akl = X1 ot
ots=Xsd
2ES0s E&

SN P SA(EN) - MBAY - BES

=
i

2

= H

5,760
51,840

= M W

135,848
95,094
12,226
28,528

104,267

31,581

= N W

135,848
95,094
12,226
28,528

104,267

31,581

[val

P&

135,848,000& * 14

= 0 W

135,848

135,848
95,094
12,226
28,528

104,267

31,581

= M

18,400
4,520
13,880

15,440

2,960

H

Al

18,400

4,520
13,880

15,440

2,960

01 MI2HH %5

O HAAS0HS K

18,400,000& * 14

Al

18,400

18,400

4,520
13,880

15,440

2,960

I
0
L]

oy
pal
{0

H

Al

6,000

1,800
4,200

6,000

= M

6,000

1,800
4,200

6,000

= M

6,000

6,000

1,800
4,200

6,000

66,970

66,650

320

11,970

11,650

320

7,170

6,850

320

o
-

o
on g A

0
H0
(11
1

2 o

o

KAIE SAT

10,000& = 359

22 DSHE 7Y

500,000& * 23

7,170
1,350
350

1,000
3,260

6,850

320




AN ALEI =X
3 ois=Asd

Sl OISYUPAIY = CER-ED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
SEELEEEEEES
0,000& * 10 * 23] 1,400
O OISEXANE SAA B2 g 2A=
230,000 = 23| 460
O OfE=XAas HaLT
70,000& = 10¥ = 23| 1,400
O 2&l 2,560
O Ots=X 9248 8,0008 * 49 = 80Y 2,560
202 04 dl 4,800 4,800 0
01 2L Y] 4,800 4,800 0
O ots=EX g8 20,000 » 3Y¥ = 80¢ 4,800
HelolE JIE&#HAL 55,000 55,000 0
307 QI2t0| ™ 55,000 55,000 0
11 AMISAAFEE X 55,000 55,000 0
O ool 18 & Ab D&l
55,000,000& * 14 55,000
CHAEEAY 274,900 293,600 A 18,700
= 271,300
Al 3,600
CEHAEIEAY 274,900 293,600 A 18,700
= 271,300
Al 3,600
101 2124 d| 95,730 95,730 0
= 92,130
Al 3,600
04 JIZtHI2E NS E 95,730 95,730 0
[0 EEAEE Jl2AdlA o2 95,730
o J=2 1,850,000& * 3% * 12JH & 66,600
= 66,600
O N2+
200,000& = 3% = 1204 & 7,200
= 7,200
O 4ti2d 250,000& *= 3Y = 1204 & 9,000
= 9,000
O 883 8¢ 1,850,000& * 34 5,550
= 5,550
O JI2tH 22X d2uF s L oyl
300,000 = 3H = 43| 3,600
O JIZtH 22X E2 =4H]
7,000& * 38 » 152 * 12& 3,780
= 3,780
201 Bt A H| 62,170 66,270 A4,100
= 62,170
01 AtSR 22l bl 34,070 35,170 A 1,100
0O det+=24| 9,570




AN ALEI =X
3 ois=Asd

C9l: CEAEBEAY (Cel mg)
SA - BB B () - MM - BES Ol &t o San HmEET
O CEAEHE 290 (N28E &)
4,010,000& * 14 4,010
= 4,010
O g2sH*a & 2¢ 4,000,000 = 14l 4,000
= 4,000
O &sXl &€& &N 7Y 1,200,000 * 14 1,200
= 1,200
Otz #=s2 15,0008 = 2& = 120H & 360
= 360
0O fIg W=t 1,000,000 * 14 1,000
= 1,000
0O 2g=+¢ 15,700
O CRALE 29983
70,000& = 18 = 103/ 700
= 700
O Z2Jd2d ZA =8
50,000& = 2531 = 12JH& 15,000
= 15,000
U =&l 8,000& = 3% * 20 ~12JHE 5,760
= 5,760
0O gxz 2,040
O =7l 40,0003 = 12JHE 480
= 480
O foZHIE4A 130,000& * 12JH& 1,560
= 1,560
02 =224l 11,100 11,100 0
03322 2 HMA 6,700
O EEHARE HUALE MEE
700,000& = 14 700
= 700
O EEAEE 2323 500,000& = 12& 6,000
= 6,000
O A€ EHI KX 2,000,000& = 14| 2,000
= 2,000
O xtg - dehd| 2,400
O g 29 200,000& * 12043 2,400
= 2,400
03 &AL Z I 17,000 20,000 A 3,000
[0 CEAEE #HA(2SIME S)
17,000,000& * 14 17,000
= 17,000
202 4l 16,800 16,800 0
= 16,800
01 = LH o4 1l 16,800 16,800 0
O 2UHEE 0
20,000& » 3 = 202 = 120 & 14,400
= 14,400




2N

X ZH
S =

el

Akl = X1 ot

P ots=ENsd

CEYAEBHEAMY

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
0O 2AsHME(HR2su=E, A3E S)
200,000& = 3H =« 43| 2,400
= 2,400
206 M=l 13,000 15,000 A 2,000
= 13,000
01 =8l 13,000 15,000 A 2,000
O D208 Mg 24 13,000,000 * 14 13,000
= 13,000
301 L2 AF 52,200 58,600 26,400
= 52,200
01 MEIBEE 5= 41,200 45,000 A 3,800
[0 CEARE T2 X2 (A, 85X S)
41,200,000& * 14l 41,200
= 41,200
09 HALAHIEA S 11,000 13,600 A 2,600
O XNSEMIGAAH (RIS AL S)
1,000,000& * 14| 1,000
= 1,000
O gu=s 2HAHS 10,000,000& * 14 10,000
= 10,000
307 gl2tol & 34,000 39,200 25,200
= 34,000
01 2=2L =4l 34,000 39,200 25,200
O Aelad 50,000 = 14% = 103] = 27| 14,000
= 14,000
O d238 & ogEES S 100,0008 = 202 2,000
= 2,000
0 2@ (An2) 2
100,000& = 150t = 12& 18,000
= 18,000
405 THobH S| 1,000 2,000 21,000
= 1,000
01 AL =2 S FH S| 1,000 2,000 21,000
O &#d8id 28(3J1838D1)
1,000,000& * 14 1,000
= 1,000
NEotsEsd=201& N& 96,784 88,805 7,979
| 40,366
< 14,504
Al 41,914
NEotsEsd20|&8 23 X3 88,805 88,805 0
| 40,366
= 12,110
Al 36,329
307 21201 A 88,805 88,805 0
| 40,366




AN ALEI =X
3 ois=Asd
@4 XNFo0tsESE2I12

0

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

H

Al

12,110
36,329

10 A SAAEHE2SEHIEXR

O XNEotsEsd201&

88,805,000& 14|

Il

= M

88,805

88,805
40,366
12,110
36,329

88,805

NeotsE2sdEl 2 2 (E XHAM)

= M

7,979

2,394
5,585

7,979

307 21201 &

= M

7,979
2,394
5,585

7,979

,979,000& * 14

= H

7,979

7,979
2,394
5,585

7,979

=]
O
1
o
il
FY

= M W

4,053,431
2,838,249
364,554
850,628

4,053,431

f=]
Oi
4
o
al
o

= W

4,053,431
2,838,249
364,554
850,628

4,053,431

= W

24,905
17,434
2,240
5,231

24,905

04 J12tN 2 2 Xt

=
(=}
0 0tS4g R=(2E0)

24,905,000 * 14l

= 0N W

24,905

24,905
17,434
2,240
5,231

24,905

= N H

4,152
2,906
374
8r2

4,152

01 At2 22l bl

g
28 78 100,000& * 103l

100,000& * 202

= W

4,152
4,152

1,000

700
90
210

2,000

4,152




AN ALEI =X
3 ois=Asd

Sl OIS+ YN (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 1,400
< 180
Al 420
O g2 N 1,152,000 * 14| 1,152
= 806
< 104
Al 242
301 et a3z 4,024,374 0 4,024,374
= 2,817,909
< 361,940
Al 844,525
01 AR 2Z A5 3 4,024,374 0 4,024,374
O os=g =0 4,024,374,000& = 14 4,024,374
= 2,817,909
= 361,940
Al 844,525
NHEAESXNHEH 2 6,878 0 6,878
IIEAEXNNEEEH 2 AZ22ES 6,878 0 6,878
308 AAIEHHSOIA 6,878 0 6,878
07 IXNHMARS = 6,878 0 6,878
O HEsNdds 22 N 293
6,878,000& = 14 6,878
HAE2AZ U (ALSI S X 198,463 173,882 24,581
el 2 175,631 151,270 24,361
oA 2 A (At = X2t 175,631 151,270 24,361
101 @14l 175,631 151,270 24,361
01 2= 168,986 145,600 23,386
O =2 2=E 168,986
O ANAe224g
11,0743 = 24H = 50AI2t = 128 159,466
O 222 (32 %)
0,000& = 1H = 119 9,520
02 JIEt A2+ 6,645 5,670 975
O =2 f=% 6,645
O A2t Z2f+4
11,0743 = 1 = 50A12t = 128 6,645
JlE &3l 22,832 22,612 220
Jl2 gl (Al =S X 1) 22,832 22,612 220
201 ¢4l 17,432 17,212 220
01 At 22l 17,432 17,212 220
0O get=34l 15,672
O HdFMRES 7Y 500,000& = 83l 4,000
O EAEX 7Y 30,000& = 200&A 6,000




S A AL ST
M HNY2AAH| (A3 =X D)

¢l =gl (chel & 9l)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@ﬁ HRE2
O dABX RE2 14,0008 ~ 4= * 12€ 672
O U2=F AN L 25 sl9NE R
300,000 = 53| 1,500
O ¢2o@ &1 TA 7
50,000& * 103 500
O AIR4 2d9E 2 500,000& * 63| 3,000
0 2 &l 1,760
O AIg=X g92=F4
8,000& * 2% * 110¢ 1,760
203 € R F & 4,200 4,200 0
04 EASHEIRFAH| 4,200 4,200 0
O Ata S X2 350,000&  12& 4,200
204 = 2 4= A H| 1,200 1,200 0
01 Mg HRSHAH| 1,200 1,200 0
O At S X2t 100,000& = 12& 1,200
HEE S (ASIEX D) 10,100,000 40,000 10,060,000
WEAHA XK= 10, 100,000 40,000 10,060,000
HWEHHXE (A =X D) 10,100,000 40,000 10,060,000
702 D128 E2 10,100,000 40,000 10,060,000
[P RSE= 10, 100,000 40,000 10,060,000
RN I 50,000,000& * 14 50,000
0 dHEsSI|2 50,000,000 = 14! 50,000
O 2EA SEHAMANE HEXNE F00X2
10,000,000,000&¢ = 14l 10,000,000




